Riviera International Academy
Second Term Revision Assignment
Grade IX - English Assignment (Thursday)
1. Write an account of your encounter with an alien in three paragraphs.
2. Write a letter to the editor highlighting the Importance of natural resources in Nepal.
Grade IX - English Assignment (Friday)
1. Write a news article on 'Green Energy' in about 250 words.

2. Write a news story on 'Sophia, the first Humanoid'.

Class 9 Subject: Computer
Very short answer questions.
2. What are BIT and Byte?
3. Define firewall.
4. What is cyber law?
5. Write any four differences between open source software and close source software.
6. List the different types of USB ports that are found on electronic devices.
7. Convert the following as indicated
a. (4251)8 = (716
b. (AFD)16 = (7)8
Mathematics
1. 5 questions from LCM and HCF.
2.10 questions from Indices.

3.15 questions from Mensuration 1, 2 & 3.
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Science (Nature and Environment and Simple Machine) [27™ of Ashad]

l. Define predation, mutualism, commensalism and parasitism with examples.

2 Differentiate between food chain and food web.

3. What is ecosystem? Why is ecosystem beneficial to human beings?

4 Define pulley, inclined plane, screw, wedge and wheel and axle. Write the formula to calculate

VR of all these machines.
5. Give reason:
a) MA is always less than VR.
b) It is easier to climb slanted slope than vertical slope
c¢) The value of VR in single movable pulley is two but single fixed pulley is one.

6. The radius of wheel is 100 cm and axle i1s 50 cm. If a load of 1200 N is to be lifted by effort of 400 N.
Calculate its efficiency.

7. Calculate the efficiency of an inclined plane if a load of 750 N is to be lifted by effort of 550 N.
Given the length of inclined plane is 8 m and height is 5 m.

Opt. Mathematics
Page Number: 159
Question Number B (3, 4, 5)
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